rexroth

A Bosch Company

1/3

Foundation bracket 10

/

Foundation bracket for securing frames to the floor

The drilled hole for the floor dowel can be made
without removing the foundation bracket

Profile finishing: not required

Assembly-Technology, PDF version, 2021-12-01, © Bosch Rexroth AG, subject to change.
Valid edition only on the Internet. Copies of any type are not subject to change.



Dimensions

Foundation bracket

= _
]
- £ ;
o O o i
(i.}..
~
]
—l i ;
i
;i;-
<
2
2 V7
22:2 o
42
31 13
90
00109462
No. L l, 1,
mm mm mm
3842146815 160 31 645
3842146848 210 91 545
Floor dowel
D J:ﬁl—[
I —
e rii
/
|| | 1' i
mHE !
K‘J D
00109714
No. D L ) l
mm mm mm mm
3842526560 8 80 65 15

Assembly-Technology, PDF version, 2021-12-01, © Bosch Rexroth AG, subject to change.

Valid edition only on the Internet. Copies of any type are not subject to change.

2/3



Accessories

Required accessories Required accessories
T-bolt M8x20, 10 mm slot T-bolt M8x20, 10 mm slot
Flange Nut M8 Flange Nut M8

Floor dowel Floor dowel

Flange nut, T-bolt

*  Secure, conductive connection
* Notch at bolt end as marker for identifying correct position
*  Profile finishing: not required

Ordering codes

Groove L L, I,
mm mm mm
L160 foundation bracket 10 160 31 64.5
L80 floor dowel 80 65
L210 foundation bracket 10 210 91 545

Assembly-Technology, PDF version, 2021-12-01, © Bosch Rexroth AG, subject to change.
Valid edition only on the Internet. Copies of any type are not subject to change.

2max

15

3/3

D i,it No.

20 13842146815
8 mm 100 3842526560
20 13842146848


http://www.boschrexroth.com/ics/cat/?cat=Assembly-Technology-Catalog&p=p879660&m=XC&o=Desktop

	Dimensions
	Accessories
	Ordering codes

